
Running dictation – řešení 
 
1. Pupils get in pairs.  
2. One runs around the class, chooses one of the sentences and runs 
back to the partner to dictate him/her the sentence as long as the 
sentence is written down in full  on the given sheet of paper. 
3. Pupils take turns in writing and running. 
4. After the pupils have put down all the sentences, they start to 
translate them in Czech. 
5. The activity finishes after the first three groups have finished the 
translation. 
 
 

 
1. Žáci pracují ve dvojicích. 
2. Jeden z nich běhá, vybere si větu vyvěšenou kdekoliv ve třídě a 

a diktuje ji tomu, co ji zapisuje pod daným číslem na pracovní 
list. 

3. Žáci se v běhání a psaní střídají. 
4. Když mají všechny věty, začnou je překládat. 
5. Aktivita končí, když první 3 skupiny mají hotový překlad. 

 
 
 
 
Aktivita je postavená na slovní zásobě a gramatice učebnice Project 2, the third edition, Unit 5 
– stupňování přídavných jmen.  
Trvá asi 20 minut. 

 



Running dictation  
 

1. The weather in the south-east England is nicer than 
in the north. 

2. However, more people live in the  south, so it´s more 
crowded and the houses are more expensive. 

3. The weather in the north-west of England is cooler 
and wetter than in the south. 

4. There are more lakes and hills in the north than in 
the flatter south. 

5. Australia is the biggest country in the smallest 
continent. 

6. I think my bag is as heavy as lead. 

7. My brother is as tall as my father but I am the tallest 
in the family. 

8. Oh, it´s getting dark and the weather´s getting worse 
now. 

9. I think your eyes are as blue as the sky and as deep 
as the sea. 

 
 
 
 
 
 
 
 
 
 



Worksheet on running dictation 
 
1.Write the sentences on the given  lines 
 
1…………………………………………………………………………………
………………………………………………………………………………….. 
2…………………………………………………………………………………
………………………………………………………………………………….. 
3…………………………………………………………………………………
………………………………………………………………………………….. 
4……………………………………………………………………………….…
…………………………………………………………………………………… 
5…………………………………………………………………………………
…………………………………………………………………………………….
6…………………………………………………………………………………
…………………………………………………………………………………….
7…………………………………………………………………………………
…………………………………………………………………………………….
8…………………………………………………………………………………
…………………………………………………………………………………… 
9…………………………………………………………………………………
…………………………………………………………………………………… 
 
2. Translate  the sentences into the Czech language 
 
1…………………………………………………………………………………
………………………………………………………………………………… 
2…………………………………………………………………………………
…………………………………………………………………………………….
3…………………………………………………………………………………
…………………………………………………………………………………….
4…………………………………………………………………………………
…………………………………………………………………………………….
5…………………………………………………………………………………
…………………………………………………………………………………….
6…………………………………………………………………………………
………………………………………………………………………………....... 
7…………………………………………………………………………………
…………………………………………………………………………………….
8…………………………………………………………………………………
……………………………………………………………………………………
9…………………………………………………………………………………
………………………………………………………………………………. 


